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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence yvou will see four words

or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet,

Th-

8-

79-

81-

82-

83-

85

87-

The employees -——-——-—— to the manager as soon as they occurred realized that they were
more easily and quickly solved.

1) reported the problems 2) who reported the problems

3) that the problems they reported 4) whom the problems reported

It is important for every single individual living in this world -—-————- hard to protect the
environment.

1) to work 2) for working 3) and works 4) that works

They ——-mcemmeeee the race they took part in, but they didn't try hard enough.

1) had won 2) might win 3) have to win 4} could have won
She read the agreement again ------ - she would make sure there was nothing wrong in it.

1) as 2) so that 3) whereas 4) even though

It is difficult to say what is impossible, for the dream of yesterday, today is the hope, but also can
become tOMOrrowW's ==—-——————— ;

1) prize 2) case 3) reality 4) matter

The researchers would -——-—--———- several other areas where the Inkley nation used to live to
collect more information about them.

1) guess 2) spread 3) respect 4) explore

It is ~—-——mev - for vou to have your health condition checked before you decide to climb
Mount Everest.

1) aware 2) previous 3) advisable 4) responsible

Mot to be able to overcome his foot injury to be able to play on his team in next month's
important game is the foothaller's main -----——-—-—- ;

1) lack 2) concern 3) procedure 4) imagination

Port Aransas is a city in which the people's income is entirely dependent on tourism. That is why
they do whatever —---—e-mem—n to make the city attractive for them.

1) exact 2) immediate 3) necessary 4) economical

I think the Johnsons should —————— their child more: he is always getling into trouble at
school.

1) discipline 2) overcome 3) emphasize 4) enhance

Here in Paris, as well as just about everywhere these days, it’s possible to pay for -—--—-—
everything with a eredit card or a phone.

1) similarly 2) efficiently 3) softly 4) nearly
The mother asked the teacher to Kindly keep her -——-——--- her child's progress at school.
1) informed of 2) interested in 3) careful about 4) friendly towards

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

James Anderson writes about the waste of energy in hotels: overheated rooms, lights
(BB) —mmmmmmm e on all night, towels that are used once and then sent to be washed. He
is right, but why stop with hotels? Would it not be better (89) —=ccmcecaceaeee all the other
mindless waste that characterizes modern life?
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In the morning | walk down the high street past shops whose doors are wide open,

(90) =-mmmmmemeeee hot air into the street. At the supermarket 1 take my frozen vegetables
from a (91) ---—=-—---——--- that is completely open. My children leave their computers
(92) == when they go out and their phone chargers plugged in with no phone

on the other end. What does all this waste show?

88- 1) are left 2) leaving 3) which leave 4) that are left

89- 1) to mention 2) was mentioned  3) that mentioned  4) for mentioning
90- 1) blowing 2) producing 3) crossing 4) lifting

91- 1) cabinet cooling  2) cabinet cooled 3) cooling of cabinet 4) cooling cabinet
92- 1) off 2) on 3) around 4y up

Part C: Reading Comprehension
Directions: In this part of the test, you will read twe passages. Each passage is followed by four

gquestions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.,

PASSAGE I:

She remembers the moment the photographer took her picture. The man was a
stranger, but he asked if he could and she agreed to let him take it. She had never been
photographed before and until they met a second time seventeen years later, she was
not photographed again,

The photographer, Steve McCurry, remembers the moment too. It was 1984 and he
was recording the lives of Afghan refugees in a camp in Pakistan. She was looking out
of the school tent and he admits thinking at the time that the picture would be nothing
special. Yet the "Afghan girl', as the picture is now known, became, after a few years,
one of the most iconic images. McCurry used her intense expression, so untypical of
an average, carefree girl, to warmn us not to ignore the victims of war, especially its
young victims.,

In 2002 National Geographic encouraged McCurry to return to Pakistan to look for
the girl. After showing her photo around the refugee camp, he found a man who had
known her as a child and knew where to find her. He offered to bring her from her
home in the Tora Bora mountains in Afchanistan and after three days returned with
Sharbat Gula, a woman perhaps 29 vears old. McCurry knew at once that this was her.

93- It can be understood from the passage that the first time Sharbat Gula was photographed she was
about -——————-,

1) 11 217 3)29 4) in her twenties
04- According to the passage, the picture Steve MeCurry took form the Afghan girl --——--—- .

1) was one he himself knew would become famous
2) was made popular by National Geographic

3) gained people's attention later on

4) was an immediate success
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95-

98-

10-

According to the passage, when Steve McCurry came back in 2002 to took another picture

1} Sharbat Gula had changed so much that he was greatly surprised

2) he had to wait for three davs before he could see Sharbat Gula

3) he managed to find Sharbat Gula himself and very quickly

4) Sharbat Gula was living in another camp in Pakistan

The passage is most likely to continue with --------=-=-—- .

1) an explanation of why Steve McCurry agreed to go to Pakistan a second time
2) reasons why Sharbat Gula and other Afghan women look attractive in pictures
3) what the focus of National Geographic in news reporting is

4) a description of what Sharbat Gula looked like then

PASSAGE 2:

People love to compare and contrast. In most parts of England, you buy your bus ticket
on the bus. In France, vou buy it at a metro station. In Australia, you can buy it from a
newsagent. We all find this kind of comparison amusing. Books on cross-cultural
communication use our curiosity by focusing on ditferences between people across the
world: in social behavior, the roles they play in society, their viewpoint towards
money, the importance of their body language, etc.

Proxemics, the study of different standards of personal space, is one example. How
close | stand to someone when I am speaking to them depends not only on my
relationship to them, but also on my culture. This is important because if the person I
am with i1s not used to standing as near as 1 do when we are talking to each other, they
might feel uncomfortable. Statistics tell us that the average distance at which two
people stand in a social context—neighbors talking together, for example—is anything
between 1.2 meters and 3.5 meters. In Latin cultures (South America, ltaly, etc) and
also in China this distance tends to be smaller, while in Nordic cultures (Sweden,
Denmark, ete.) people usually stand further apart.

Which of the following best describes the way the information in the passage is presented?

1) A particular event is mentioned and the reasons for its existence are discussed.
2) A general point is made and then a particular case related to it is mentioned.
3) An interesting topic is introduced and the ideas for and against it are stated.

4) Different aspects of the same thing are introduced and are then compared.
According to the passage, how close we stand to someone we are communicating with varies
based on the following factors EXCEPT e,

1} our culture 2) our country

3) our neighbors 4) our relationship with them
According to the passage, the distance at which people stand in a social context --—--—--- :
1}is 1.2 meters or 3.5 meters all over the world

2) is the smallest in the world in Latin cultures

3) tends to change in the course of time

4} is not fixed under all circumstances

Which of the following is defined in the passage?

1) proxemics 2) social context

3) social behavior 4) cross-cultural communication
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Teil A: Grammatik

Die Gruppe kam in eine Héhle, um sich vor --———---—- - Sturm zu verstecken,

1) das grofie 2) den grolien 3) der groBen 4) dem groflen

Das Schaf ist ein Haustier, aus ---—--——--——-—- Fell Wolle hergestellt wird.

1) dessen 2) denen 3) derer 4) deren

Warum -----=-=ee-v du mit der Chefin iiber das Thema sprechen? Das bringt doch nichts.
1) magst 2) darfst 3) willst 4) kannst

Die Aufgabe bestand --———--mmmn- , ¢in Buch auszuwiihlen, das inhaltlich und gestalterisch
gleichermaBen interessant war.

1) dazu 2} dafiir 3) darin 4) davon

Man ----e--emeee- -- Renate eine Stelle als Sekretiirin bei Vobis GmbH -=-—=-ecceeeeeo

1) hat / angebotet 2) ist / angebietet 3) hat / angebietet  4) hat / angeboten

Bei welchem handelt es sich um den Komparativ des Adjektivs ,,miide*?

1) miide 2) miider 3) miidest 4) am miidesten

Der Satz ., Wenn Christof mehr lernen wiirde, hitte er bessere Noten® ist ein irrealer

1} Wunschsatz 2) Aussagesatz 3) Vergleichssatz  4) Bedingungssatz
Welche Priiposition steht mit Dativ und Akkusativ?
1) zu 2} vor 3) gegen 4) fiir

In welchem Tempus steht der Satz ,Peter war mit dem Ergebnis der Priifung
zufrieden*?

1) Priteritum 2) Prisens 3) Perfekt 4) Futur 11
Wie lautet der Akkusativ Singular von .der Herr*?
1) den Herr 2) den Herrn 3) die Herren 4) dem Herren

Teil B: Vokabeln

Der Junge wird noch sein —----mcemeeeee Wunder erleben, wenn er so riicksichtslos handelt
wie bisher!

1) rotes 2) griines 3) blaues 4) schwarzes
Draufien liefen die Maschinen und man konnte vor ——-----——-- sein eigenes Wort nicht
hiren.

1) Pech 2) Lirm 3) Angst 4) Freude

Die Zuschauer, die zahlreich erschienen waren,----------- iiber den Sieg ihrer annschaft.
1) jubelten 2) lachten 3) klagten sich 4) wunderten sich
Vor einer --------------- werden iiberall Plakate an die Wiinde geklebt.

1) Wahl 2) Operation 3) Geburt 4) Hochzeit

Was ist das Gegenteil vom unterstrichenen Wort im Satz ,Unser Land ist reich an
Bodenschiitzen*?
1) arm 2) blass 3) nutzlos 4) schwach
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Teil C: Liickentext

Ergiinzen Sie den Text mit den richtigen Auswahlmiglichkeiten!

Ein (91) —=-memmeemeeeee hat ein wichtiges Urteil gegen die Tirkeil gefillt. Es geht um die
(92) von zwei Journalisten. Der Européische Gerichtshof sagt: Sie durften
nicht ins (93) -——--—mmmmmmv kommen. Diese Journalisten haben die Regierung in der
Tiirke: ofi (94) ~——----——-—- . Sie wurden im Jahr 2016 in Untersuchungshaft genommen.
Der (95) -=--=---—-- gegen sie lautet: Sie haben mit dem Putschversuch in der Tiirkei zu tun.
1) Hof 2) Markt 3) Gericht 4) Unternehmen

1) Einladung 2) Fragen 3) Rolle 4) Haft

1) Spiel 2) Konzert 3) Ausland 4) Gefingnis

1) gelobt 2} erwithnt 3) kritisiert 4) unterschiitzt

1) Versuch 2y Vorwurf 3) Zustand 4) Verstol

Teil D: Leseverstehen

Ghana ist ein Land in Westafrika. Mit der Elfenbeinkiiste, Burkina Faso und Togo hat
das Land drei Nachbarliinder. Die Hauptstadt heillt Acera. Sie liegt im Silden des
Landes, direkt an der Kiiste zum Atlantischen Ozean. Gemeinsam mit der Stadt
Kumasi gehort Accra zu den zwei grifliten Stadten Ghanas. In den meisten Lindern
Westafrikas ist die Amtssprache Franzisisch: Da ist Ghana mit Englisch eine
Ausnahme. Mit etwa 240.000 Quadratkilometern ist Ghana ungefiihr so groll wie
GroBbritannien, Ghana liegt nahe am Agquator. Die Tage und Nichte sind also fast
immer gleich lang. Es gibt aber auch groBe Unterschiede: In der Kiistenebene und im
angrenzenden Regenwald ist das Klima sehr feucht. Es gibt also viel Regen. Im
MNorden jedoch liegt eine trockene Savanne. Vermutlich leben seit 30.000 bis 40.000
Jahren Menschen auf dem Gebiet des heutigen Ghanas.

In welchem Teil des Landes liegt die Hauptstadt von Ghana? Im -———————.

1) Osten 2) Siiden 3) Westen 4) Norden
Welche Sprache ist die Amtssprache in Ghana?

1) Englisch 2) Arabisch 3) Afrikaans 4) Franziisisch
Mit welchem Land hat Ghana eine gemeinsame Grenze?

1) Togo 2) Mali 3) Guinea 4) Liberia

Was die GribBe des Landes angeht, ist Ghana laut Text mit -————— vergleichbar.
1) Frankreich 2) Osterreich 3) Luxemburg 4) GrofBbritannien

In manchen Gebieten in Ghana, wie in der Kiistenebene ist das Klima sehr -—------—-—-- .
1) rau 2) trocken 3) gemiligt 4) feucht
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Partie A: Grammaire
Complétez les phrases suivantes en cochant la réponse correcte:

Le boulanger du guartier fait ----—--m-emuemx pain au levain.

1) du 2)un 3le 4) ce

Quand elle a appris la nouvelle, elle ——--—mmemaeeeme dans sa voiture.

1) est 2)aée 3) sera 4) était

Mon francais est - qu'avant

1) hien 2) le mieux 3) meilleur 4) le meilleur
Veux-tu une limonade? Non merci, je ne bois —-—=ceeeeeeeeee,

1) nul 2) jamais 3) personneg 4) rien

Si j'avais fait des économies, j' ------===mmnu a I'étranger avec mes camarades.

1) irai 2} irais 3) allais 4) serais allé
Je ne peux pas marcher correctement --------------- je fasse de la rééducation.

1) depuis 2) bien que 3) par contre 4) toutefois
Ce -—————-—--- j'ai vraiment besoin c'est le repos i la campagne.

1) ou 2} que 3) qui 4) dont

Nous aimerions que les jumeaux ---———————- le méme cadeau pour leur anniversaire.
1) ont 2} aient 3) auront 4) ont eu

Partie B: Vocabulaire
Complétez les phrases suivantes en cochant la réponse correcte:

En été, les dimanches matin, quand toute la famille est 4 la maison, on prend le

petit-déjeuner dans --—————- en écoutant le chant des oiseaux.

1) le salon 2) le jardin 3) la cuisine 4) la salle a manger
Le général a -------------—- une gerbe de fleurs sur la tombe du soldat inconnu.

1) posé 2) déposé 3) installe 4) abandonné

La personne chargée de faire appliquer les régles du match de foothall est —

1) le juge 2) l'expert 3) l'arbitre 4) l'inspecteur
~~~~~~~~~~~~~ de choléra touche la population jeune en Afrique.

1) L'épidémie 2) La maladie 3) L'intoxication 4) La souffrance

Je viens d'acheter une paire de -—--—--——--—— pour I'été.

1) bottes 2) sandales 3) pantoufles 4) escarpins

Dans le cabinet du juge, les -----------—--- allaient commencer en présence de son avocat.
1) questions 2) interrogations 3) interrogatoires  4) questionnements
La tempéte a tout ——-—--—-——- --- SUr son passage: ¢'est une vraie catastrophe!

1) amené 2) apporté 3) emmeng 4) emporté

Partie C: Texte a Compléter

Depuis trois ans, il travaillait (91) -----ee-eeu- en faire un chef-d'ceuvre. Il avail eu soin
d'en tenir le fourneau constamment serré dans une gaine de chamois, de (92) ===me=menma-s
fumer le plus lentement possible, sans jamais la (93) ------------—-- sur du marbre, et,
chaque soir, de la suspendre au chevet de son lit. A présent, il en secouait les
morceaux dans sa main (94) —---------—---- les ongles (93) -=—--mmemmmmmme,
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1)a 2) de 3) pour 4) par

1) le 2) la 3)en 4) lui

1) mettre 2) porter 3) poser 4) déposer

1) ot 2) que 3) qui 4) dont

1') saignent 2) saignaient 3) ont saigné 4) avaient saigné

Partie D: Compréhension de Texte
Lisez le texte suivant et répondez aux questions:

En 1998, la coupe du monde de football a réuni les diverses communautés qui
composent notre peuple. La France se reconnaissait enfin dans ces enfants d'immigrés
et dans ses citovens d'outre mer gu'elle avait toujours ignorés et, I'euphorie ambiante
avait fait oublier les problémes politiques, économiques et sociaux de I'époque. Nos
compatriotes se sentaient pousser des ailes, on avait I'impression que rien ne pouvait
les arréter. Grice a cette victoire, la France rayonnait de nouveau a travers le monde!

Deux ans plus tard, le championnat d'Europe offre une nouvelle occasion de
renforcer la cohésion nationale. Les Frangais, qui s'étaient peu mobilisés au début de la
competition, se sont vite rejoints 4 mesure que leur équipe gagnait. Chaque match
remporté suscitait un lol espoir, les coeurs se remettaient 4 battre & 'unisson. Puis, le
grand soir est enfin arrivé et des écrans géants ont a nouveau ¢été installés dans toutes
les grandes villes pour partager ce grand moment. Pendant tout le match, les nerfs des
spectateurs ont été mis a rude épreuve, la défaite était imminente. Mais cette fois-ci
encore, les réves de victoire se sont réalisés aprés un suspense insoutenable. Un but
d'égalisation arraché 48 secondes avant la fin du temps réglementaire allait permettre a
la France de marquer le but en or et de remporter la victoire tant convoitée.

L'équipe de France a égalisé ---—————- g

1) dix-huit secondes avant la mi-temps

2) vingt-huit secondes avant la fin du temps réglementaire

3) trente-huit secondes avant la fin du temps réglementaire

4) quarante-huit secondes avant la fin du temps réglementaire

Les Frangais se sont retrouvés pour soutenir leur équipe ——-—-———- :

1) petit a petit 2) le soir du final

3) dés que I'équipe gagnait 4) dés le début du championnat
L'équipe de France a gagné ——-.

1) par le but en or 2) grice au but en or

3) 4 cause du but en or 4) parce que le but en or

Quand le jour du final est arrivé, des écrans géants -—-——-- :

1) allaient étre installés 2) auraient €té installés

3) venaient d'étre installés 4) étaient installés depuis longtemps
La victoire en coupe du monde a réuni les Francais ---——---—-———-- .

1) en quelques temps 2) dans quelque temps

3) pendant quelque temps 4) depuis quelque temps
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76- Mebl 4acTO TOBOPHM ——-——-—————-— :
1) c nureparypoid  2) nurepatypa 3) nureparypoi 4) o nureparype
77-  AHHA XOpOomo IHAET -------------—- dpara.
1) nawa 2) nawue 3) naiero 4) Haw
78- 3aprpa Pyeaan noiiger —-————--—u-—,
1) k crapomy apyry 2) crapuiii apyr
3) v craporo apyra 4) craporo apyra
79-  Pambme Anjapeii patoTag ——-—--a-e-- -,
1) B YHHBEpCHTET  2) B VHHBEPCHTE 3) Ha yHHBepCHTET  4) YHHBEPCHTETE
80- B napke Mbl BCTPETH/IH ==-====nn=nmnn= \
1) 3HAKOMBIE 2} 3HAKOMBIM 3) 3HAKOMBIX 4) co 3HAKOMBIMH
81- Jlupextopa Her Ha padoTe, OH yike - OMOil.
1) npuxoaun 2) BbIIEN 3) BXoaMa 4) ymen
82- Cryaenuecknii npasasuk o1 18 - "
1} HoAOpA 2) noadpn 3) B HonOpe 4) Hoabpro
83 M naeno He BHARN ——--—mmmmmmmm :
1} k Gpary 2) Gpara 3) y Opara 4) Gpar
84- Kornag--——————- B YHHBEPCHTET, #1 cAaBaa 3 skiamMena.
1) noctynaer 2) nocTynun 3) noctynan 4) nocTynuT
85- S wynma raiersl, ---------—----—- Tkl MHE FOBOPH.I.
1) KoToprie 2) 0 KOTOpBIX 3) ¥ KOTOPHIX 4) KoTopoe
86- 5 Berpernn cTYIeHTA, ——-—--—mmmmm—- VUHTCH B Hallell rpynne.
1) KoTophii 2) KOTOPBIM 3) kotoporo 4) KoTopas
87- Mapra cTapie -—-—--—--—-— Ha 2 roaa.
1) mue 2) Ha meHs 3) y meHs 4) mens
88- AHHe HPABUTCH HAIN -———-—-——- -
1) HoBBIH 10M 2) HOBOI'O JOMa 3) B HOBOM JlOME 4) 0 HOBOM J0ME
89-  Ouer noIHAKOMHICH ¢ XHMHKOM, ------==-===-== MIY.
1) okoHuYHBLIIEM 2) OKOHYHBLIHEH 3) OKOHYHBIIHM 4) OKOHUHBILEMY
00- e oTHA, AHIpeil NoIomea K HEMY.
1) ¥euaeswero 2) Veuaes 3) Veunerwas 4) Veuaesmui
b. lonoaHuTe TEKCT, HCNOJAbL3YH NOAXOAALLEE N0 CMBLIC/Y CA0BO.
Y JIHCTAHUHOHHOTO BY30OBCKOIO 00pazoBaHHA €CTh (91) ==-=-sma=eeeaes [IPEHMYILECTRO:
(92) = CTYJEHTOR He TpeOVeTca BCe BpeMA HAXOMHTLCA B ayIHTOPHH. 2TO
MOZBONAET YUHTRCA B (93) ——ommmemeee BY3aX CTOJHILI H BY3aX JAPYTHX KPYMHBIX
(94) mcmmmmmmcmeceee QI0DOMY KENAKOLIEMY, NPHYEM 34 D0JIEE HHIKVIO (95) =mmmmmmemmmeeee
HEM MTPH OYMHOM Dﬁ}"IEHHH.
91- 1) HeoCTIOPHMBI 2) HeocnopuMoro  3) HEOCNOpPHMOE 4) HeocnopuMas
92- 1)vw 2) or A 4) ua3
93- 1) npecTHHHOM 2) npecTHIKHOM 3) npecTHAHOE 4) NpecTHAKHBIX
94- 1) ropoaos 2) ropojam 3) roponamu 4) roponax
95- 1) nnara 2) nnarax 3) mary 4) noaram

A. BoibdepHTe npaBguibHBII BAPHAHT OTBETA:
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B. IlpounraiiTe TeKCT H BLINOJHHTE 3A0AHHA NOCJE HEro:

A30BCKOE MOpe OMbIBaeT loro-sanaiHele Depera Poccuu W wro-poctouHsle Depera
Yrpaunsl. peetne rpekd Hazwsiraau 3710 Mope MeoTnaa, uTo 3HAYHT «KOPMHIWILA,
ckuper — Kaprynak, unu «boraroe peiboiin. B pycckux neronuesax mope MMeHyercs
no Hazpanuio ropomna Cyposka — Cypokckum. B Hamie Bpema 0OHO Ha3blBacTCA
A3zoBckuM. Mope aBaseTca BHYTPEHHHM BOIOEMOM, HO B TO K€ BpPEMA OTHOCHTCA H K
cHeTeme ATnaHTHueckoro okeana. B AszoeckoMm mope ects zanme Cueam, BOaa
KOTOpOro cydtaerca ueneduoid. B Hell NPHCYTCTBYET OKOMO CTa XHMHYECKHX
3JI€MEHTOB, YTO MO COCTABY COOTHOCHTCA MIAa3sMoi uenoBevyeckol KpoBM. baaromapa
CBOHM 0CODEHHOCTAM A30BCKOE MOPE — YHHKAIBHBIH NPHPOIHLIA Bogoem, OHO caMoe
Ma/IeHbKOE, CaMOe MEIKoe M caMmoe oraaneHHoe ot Muposoro okeana. Ero cpennas
rayOHHA COCTARIAET CEMBb METPOR.

B npeeneii Pyen AzoBckoe MOpe HMEHOBAIACE —-————,

1) Meoruaoi 2) Kaprynakos

3) Kopsmunuueii 4) CypokcKum
A30BCKOE MOPE PACTIONOFREHD =-===mmmmnuaus - Pocenn,

1) na wro-3anaae 2) Ha WIo-BOCTOKE
3) Ha ceBepo-zanaie 4) HA CERBEPO-BOCTOKE

Boaa 3aansa Casam cunTaerca ne 1ebHol, TAK KAK B HEil NPHCYTCTBYIIT -----mn-mnmmmmm .
1) aBe kpynubie pekd — Jlon 0 Kybdaub

2) ANeMEHTRI, COASPHKALHECA B TUTA3ME KPOBH

3) BOABI ABAJUATH JIBYX KPYIHBIX H MEJIKHX PeK

4) paznooOpaszHbie npencTapuTenH (paopsl 1 hayHb
A3zoBeKoe Mope Daaroaaps cBOHM 0CODEHHOCTAM --——-—-—-————- .
1) ABISETCA CKOPEE 03€POM, YeM MOPEM

2) ARNASTCA CaMBIM HIBECTHRIM MopeM B Poccun

3) npencrapnser cobOH yHHKANBHBI NPUPOIHELH BOgOEM

4) npencrapnaer coboi caMblii BaKHBIH TPAHCTIOPTHLIH MY Th
AzoBCcKoe MﬂpE HRIHETCH caMBIM ——————-,

1) CHHHM H CaMbIM MATECHBKHM

2) BAKHBIM TPAHCTIOPTHEIM NTYTEM

3) ApEBHHM M CaMbiM MPCCHOBOAHEIM

4) MenKHM W oTaaNeHHBIM 0T MupoBOro okeana
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Capitolo A: Indicate la risposta corretta:

Oggi vogliamo andare --—————————— mercato.

lya 2)al 3)in 4) nel

I mici fratelli dormivano ancora quando mia mamma li --------------- "

1) aveva svegliati  2) svegliava 3) ha svegliati 4) svegliatisi

A guanto dicono le previsioni, domani --—-—---—-—-- .

1) piove 2) piova 3) piovi 4) dovrebbe piovere
Abbiamo temuto che loro dopo quella caduta --—==-=-=-==--- male.

1) si fossero fatti 2) avessero fatto 3) abbiano fatto 4) fossero fatti

Qual ¢ il soggetto nella frase seguente?

Con un po' di fortuna avreste anche potuto vincere la partita.

1) Con un po' 2) di fortuna 3) la partita 4) voi
Qale ¢’ il modo e il tempo della seguente voce verbale?

Che egli giocasse

1) presente indicative 2) congiuntivo trapassato
3) congiuntivo passato 4) congiuntivo imperfetto
Indica in quale delle seguenti frasi il pronome relativo "cui" ha funzione di omplemento
di termine.

1) E un ragazzo il cui cognome mi sfugge.

2) La faccenda cui fai riferimento ¢ complessa.

3) Sono poesie da cui traspare una certa malinconia.

4) Non mi intendo di questo per cui non so che dirti.

Indica in quale delle seguenti frasi vi ¢ un avverbio determinativo.

1) Forse verra. 2) Parla chiaramente.

3) Caterina era vestita elegantemente. 4) Comincia a camminare forte.
Ogni anno Venezia viene visitata dai molti -—-—-—-—-— :

1) amici 2) turisti 3) popoli 4) mercanti
Ognuno deve fare quello che —————-—-- giusto.

1) bada 2) pensi 3) vede 4) ritiene
Quando lei mi chiese quelle informazioni, io non seppi ——-——-—- -

1) dargliele 2) darglielo 3) darglieli 4) darglicla
La prima guerra mondiale --------------- nel 1914,

1) scoppi 2) scope 3) scoppid 4) scoppia
La vide @ s=-meeccccaeaen che sarebbe stata la donna della sua vita.

1) capi 2) capra’ 3) capisca 4) capisce
Mi meraviglio che abbiamo telefonato tutti —————— Luigi.

1) ma 2} solo 3) anche 4) tranne

Il contadino ha —------—---—— dai rami dell’albero le mele mature,

1) ricevuto 2) staccato 3) mangiato 4) portato



Voamino 130-B g LIkul b3

91-
92-
93-
94-
95-

96-

97-

98-

99-

100-

Capitolo B: Completate il testo seguente con le parole proposte:

Lucia & una studentessa che abita (91) -————---- Lerici, una piccola citta’ della
Liguria. Lei abita con la sua famiglia: suo padre, sua madre sua sorella Lisa e suo
fratello Marco (92) --——--mmmmmmv - lavorano per una grande azienda italiana che
(93) ——mmmme - borse e scarpe. E una ragazza molto attiva che ama uscire con le sue
amiche fare sport ¢ (94) -—--—-mmmmammmv la chitarra. Quando non studia, aiuta sua madre a
casa. Ama andare (95) --------------- vacanza al mare perché adora prendere il sole sulla
splaggia.

1)a 2)in 3)da 4) su

1) 1 suoi 2) Gli amici 3) I fratelli 4) Le sorelle

1) rende 2) compra 3) produce 4) porta

1) suonare 2) comprare 3) vendere 4) dimostrare

1)a 2)in 3)su 4) per

Capitolo C: Leggete il testo e rispondete alle domande seguenti:

L’anno scorso sono andata in vacanza in Irlanda. L'ho sognato per tutto anno...poi &
arrivato finalmente il grande giorno: il giorno della partenza. lo e i miei amici ci siamo
incontrati all’aeroporto di Pisa, tutti contenti ed entusiasti. Un gruppo di 7 persone
pronte a vivere un’esperienza in Irlanda per 2 settimane. 1l primo problema & arrivato
all’aeroporto: il nostro volo aveva un ritardo di 2 ore. Pazienza! Abbiamo aspettato e
poi finalmente siamo partiti. All’arrivo & arrivato il secondo problema: le valigie mie ¢
di Eleonora, la mia migliore amica, non ¢’erano. Cosi siamo dovute tornare il giorno
dopo all’aeroporto a riprenderle. Siamo tornati all’hotel a Dublino e abbiamo scoperto
che qualcuno era entrato nella camera di Marco egli aveva rubato la videocamera.
Marco si € arrabbiato moltissimo e cosi ha anche litigato con la sua fidanzata, Viviana,
che si € messa a plangere come una fontana.

Il gruppo di amici ¢ andato ---—---—-—-—- "

1) a Pisa 2) a Londra 3) in Spagna 4) in Irlanda

Sono rimasti i per ———— -

1) otto giorni 2) sei giorni 3) dodici giorni 4) quattordici giorni

H volo ¢ partito — ‘

1) dopo 2) in tempo 3) in ritardo 4) in tempo giusto
Un ladre ha preso --—--—---=----- 1

1) la valigia di Eleonora 2) la mia valigia

3} la videocamera di Marco 4) la camera di Marco

Viviana e Marco ---—————,

1) hanno litigato 2) sono scappati

3) si sono separati 4) sono ritonati a casa
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